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Al 3,885,444
= 20,000
HIIENLO EECVREEE)) 209,310 212,900 3,590
[ 27,573
Al 181,737
=k 209,310 212,900 3,590
[ 27,573
Al 181,737
OINMFHM2H 117,400 92,900 24,500
201 LB 34,400 19,400 15,000
01 AF222IHI 34,400 19,400 15,000
OoHE 242|923 =
100, 00024+ 10H*23] 2,000
OQHH 22| A 22| B Gt
100, 000215243 2,000
O3 J 2284225 &4 Y
100,000 x4 *103] 4,000
Oordz2|el 25| A L4
100, 00024+ 10H*23] 2,000
Oetxst=E B A ARt
10,000,000 * 14! 10,000
OTHLHCHE| & d = X MR
10,0002/ %2005 2,000
Ootd el 282 X
10,0002 % 1,000 10,000
Oot: 22| H & 2T} JI=
20,0002 %1005 2,000
OAEt B=Z Q4 BSFEH 01 B HIFY
200,000 %2JH 2 400
307 2I2H0| & 83,000 73,500 9,500
04 DIZFSHAIAIRIE X 20,000 13,500 6,500
Ootezse 0{2I0] AXA(BEE 80%)
25,000,000 * 1A41%x80/100 20,000
06 £82 63,000 60,000 3,000
OARITIE N
63,000,000 * 14! 63,000
(E)EolorMes 91,910 120,000 £28,090
[ 27,573
Al 64,337
307 2I2H0| & 91,910 120,000 £28,090
[ 27,573
Al 64,337
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2A:
PSE
o /e

cH):

SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
OMCHAZ A AFRE 2]
150,0002* 122 1,800
ORLrAl Al 22T ZAN(THLAEA 29) 3,880
—8< 8,0002* 12247 1,976
-T2 H R 8,0002x2* 119 1,904
ONLHAIEAl AR 2] 3.600
—=28|(5H) £
200,00024*55]*1CH 1,000
—=801(22) EYH
200,00024%55]*1CH 1,000
—=8Jl =2l 1,000,00024%1CH 1,000
—PCS JIEt==2Ibl 50,0002+ 12& 600
02 2R 279,930 253,424 26,506
ORHLtANEHAl A|SAH| SX 22l
6,660,000 %14l 6,660
OMBHUZEAIAE B2 100,260
—FSEsRs 55,0002 61 * 122 3,960
—23T]) +502
7,500 *20H* 122 180
—NSSHERAAY SAR
10,0002 * 1430H* 122 17,160
—AQIEDISYSAIAY SALS(SKHAHIA)
4,500,0002% 122 54,000
—ABEA(CCTV, £9IHZD| S) SMRE
90,0002 * 16I) A %122 17,280
—2BEA(CCTV, £9IH=I| S) ®IIR2
40,0002 * 16 ) A% 122 7,680
OXBHOIZ EAIAE S22 30, 150
— A BERH| S22
1,000,00024% 14! 1,000
—2A2 H=)| S22l
7,200,000 %14l 7,200
—BHAECCTV S X122l
4,300,00021% 14! 4,300
—NESHELAIAL X2/
7,200,00024% 14! 7,200
— TR EAIAE X2/
45000021 14! 450
—XEINIEEHZED| Szl
10,000, 0002 % 14! 10,000
OJENHASSHFZE TEX2 JREHE L 29
P&l 1,250,0002* 122 15,000
OSSHWUASS YT TEE X 2 29
1,275,0002% 122 15,300
OJETHAZSHE T 2K 224
478,000, 0002 *6% 28,680
OSSNHASSNERE SX|24H|
398,000, 0002 *6% 23,880
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HEM: OIMPUR|(BZEAMUQHA /TR - 0lete])
chel: ordae] Jls2st (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OMGAZ2IM2E (OIS, 28) M) L SA Q5
2,500,000 * 122 *2JH A 60,000
401 A& B2 0HY] 75,000 0 75,000
01 Al&H] 75,000 75,000
OMBHF LRI JIItEs AlAE X
75,000,000 % 14! 75,000
RIFS 42,860 251,822 A208,962
201 L2 A 22,300 201,820 A179,520
01 AFR22IHI 22,300 201,820 A179,520
Ot 2 ez 222 HIZ 4,700
—el=3 50024%2, 00001 *23] 2,000
—&i40t 60,0002 * 1004*23] 1,200
—E52= 1,50024%1,00074 1,500
OAEE S ot BHA 24
240, 0002 %4074 A 9,600
Ot SS PR AR2
800,000 1CH*103] 8,000
301 YB3 7,200 7,200 0
11 BAFAHIXI 22 7,200 7,200
OQHHDLIHEAI oHE235 98
2,700,0002* 14! 2,700
OTHHOIHEUIER D #AKI
4,500,000 %14l 4,500
307 2I2H0| & 3,360 3,648 1288
02 QIFAAAIRIE R 3,360 3,648 1288
OMURETEHE| HHES XA (L2ES 80%)
4,200,0002 % 141%80/ 100 3,360
401 Al&HIL S 0HY] 10,000 0 10,000
01 Al&H] 10,000 0 10,000
OTHLH22| A HISED 01g ZEIAL
10,000,000 * 14! 10,000
() THIHOIZ 2 A EHH] 60,000 50,000 10,000
[ 18,000
Al 42,000
201 LBH2AH| 60,000 50,000 10,000
[ 18,000
Al 42,000
02 2229 60,000 50,000 10,000
OMBHIZBAIE X2
60,000,000 * 14! 60,000
[ 18,000
Al 42,000
(C) 252 = 2 Tl 2t 8,000 8,000 0
[ 2,400
Al 5,600
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HEM: OIMPUR|(BZEAMUQHA /TR - 0lete])
chel: ordae] Jls2st (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
201 LBH2 A 5,900 5,900 0
[ 1,770
Al 4,130
01 AF222IHI 5,900 5,900 0
Og==a M 1,800,000 * 1Al 1,800
[ 540
Al 1,260
OclEx M 2,000,000 %14l 2,000
[ 600
Al 1,400
O=8=E 72 2,100,000 %1 A! 2,100
[ 630
Al 1,470
301 YB3 2,100 2,100 0
[ 630
Al 1,470
11 BAFAIHIXI 22 2,100 2,100 0
OCHEE A & SHAl BIIX ZA!
1,400,0002 % 14! 1,400
[ 420
Al 980
OMUOHMUIESRT 8iA L DS XA
700,000 14l 700
[ 210
Al 490
(£)2=0/oHE 22| X 110,620 90,618 20,002
[ 18,874
Al 71,746
= 20,000
101 Q124H] 103, 120 83,118 20,002
[ 16,624
Al 66,496
= 20,000
M IIHR22ISEES 103, 120 83,118 20,002
OSs0| X0 &= XA
103,120,000 %14 103,120
[ 16,624
Al 66,496
= 20,000
201 LB 7,500 7,500 0
[ 2,250
Al 5,250
01 AFRZ2IHI 7,500 7,500 0




SA: QETHLID
MM OIFER|(SDEAIUOHE/ LT - 2IES)
CHol: oIF Bl J|S2

OFX 25} (Che: &)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OSs0| 22X HMAISE HRIX
7,500,000 %14l 7,500
[ 2,250
Al 5,250
oo &= 974,650 1,201,650 A227,000
201 L2 A 6,000 6,000 0
01 AFRZH2IHI 5,000 5,000 0
OTHLHOIE: 2 CHE2H K012 M
1,0002%2, 0000H 2,000
ONMTHY B L ABERIRS] &
30,0004 +5H*203] 3,000
02 2229 1,000 1,000 0
LV EE RS 1,000,0002* 13 1,000
206 THEH] 10,650 7,650 3,000
01 x24I 10,650 7,650 3,000
OTHTHCHRE =210 2 10,650
—Fe= 3,000 *150E+2H 450
—Hle 30,0004+502 1,500
&= 6,000 *2007H 1,200
—PPEOH 5002*5,0000H 2,500
—& Ot 10,0004 *5000K 5,000
302 Ol=2 THoHE A2 150,000 50,000 100,000
02 QI RSS2 A2 150,000 50,000 100,000
OALSTHAE TITH AL 2AHTHEXIRIS)
150,000, 000 %14 150,000
401 AlEHI L2 0HH 799,000 1,138,000 339,000
01 Al&H] 799,000 1,138,000 339,000
OFe}l =¥ 98 42 WA
70,000,000 * 14! 70,000
OTHH Ol ArHI 357,000
—23=7 ZHl Y2
150,000, 0002 % 14! 150,000
—XFATHOH F AL FH
20,000,0002 % 1074 A 200,000
—THAOI AL 22|44
7,000,000 * 14! 7,000
OYFAl BES2 oK MHH=ERAY
350,000,000 * 14! 350,000
ORLENGT ZFE A =4 28
22,000,000 x 14! 22,000
405 KHAHE SH 9,000 9,000
01 AU 2EFSY| 9,000 0 9,000
OS2 LA P
4,500,0002 204 A 9,000
AHSeHH oI EHH 2 Ol 13| X| 146,270 137,270 9,000
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I OIMPI[(ZREMUOHA/THLHERY - DIete])
chel: ordae] Jls2st (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
301 LBIEAS 108,630 123,630 A 15,000
06 AFSLHHAIHIXIA 108,630 123,630 A 15,000
OXrSE ] orald| X
3,500 68 *3652 86,870
OXSYHEA LIEH| X2
100,000+ 17IHCH+5 8,500
OXtsHl HHEE 2
300,00024%17HCH 5,100
OXsYHAB N ASESH X
10,0002 x68H x123] 8,160
307 2120l 13,640 13,640 0
04 DIZFHAIAIZ B 13,640 13,640
OXSYHABIH stnZ0Y 2 JIIEs0tS 3l
(X2 80%)
14,250,0002 % 13|%80/ 100 11,400
OJIEZEA &2 & stn=EZ20)et HHQI(BXE 80%)
2,800,0002 % 13|%80/ 100 2,240
401 A& B2 0HY] 24,000 0 24,000
01 Al&H| 24,000 24,000
OXsgdl 5 x4 2lpea
12,000, 0002 %274 A 24,000
BEEEE 22,000 12,000 10,000
[ 11,000
Al 11,000
307 Q1201 22,000 12,000 10,000
[ 11,000
Al 11,000
06 282 22,000 12,000 10,000
OZrol 2 A 22,000,000 %14l 22,000
[ 11,000
Al 11,000
(2)1zc9 sxzsstEd 1 5,000 5,164 N
= 2,500
[ 750
Al 1,750
201 LB 5,000 5,164 A164
= 2,500
[ 750
Al 1,750
01 AlR2:2IH 5,000 5,164 N
OotMst2Ed 882 Q| 43
1,800,000 % 14! 1,800
= 900
[ 270
Al 630




SA: R TR
HE: OIMPIR|(BTEMUHE /T - 21S)
Eel: otMate| DSt (cro): =2l
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
OCtNei=Eel HOIAF 24 N2
8,0002 x50+ 800
= 400
= 120
Al 280
OsiZEd SARY| Xt
2,400,00084+14] 2,400
= 1,200
< 360
Al 840
(Z)FSLHES 33,000 40,000 A7,000
= 9,900
Al 23,100
201 Yer2| 2,644 2,600 44
= 780
Al 1,864
01 A2 2,644 2,600 44
OXNXEL NSNS W1
5,50021 %368 2,004
= 610
Al 1,414
OXNIXSUME NS 620
—=AD| El 230,00024%13] 230
= 60
Al 170
—SAEX S 15,0002 %108 A 150
= 40
Al 110
= Ea IS ES 60,0004 x45 240
< 70
Al 170
301 YerBNZ 1,120 8,160 A7,040
= 340
Al 780
TEEE] 1,120 1,200 80
OXNAXSLME DS S Oit]
80,0002 *7 23] 1,120
= 340
Al 780
302 012 THoh 2k 29,236 29,240 A4
= 8,780
Al 20,456
02 BRIIHL =P E=DAS 29,236 29,240 4




2AM:
X{XH -
o /e

cH):

HEE

2A - HH - H(SH) - MRAIY - BES Ol &K Ol Aton Hns2
SNENEE N ERSTEERS
27,0002 %370 9,990
[ 3,050
Al 6,940
OXX St sS4 X3
9,839 *6A| 2H326 % 19,246
[ 5,730
Al 13,516
(S)erAIRIIHEI=A 110,000 145,000 35,000
[ 33,000
Al 77,000
401 Al&HI L2 0HH 110,000 145,000 35,000
[ 33,000
Al 77,000
01 Al&H] 110,000 145,000 A35,000
O0E0LS otal?IINRl =4
110,000,000 * 14! 110,000
[ 33,000
Al 77,000
(D)XSYLHY geadsss 222 I 16,230 0 16,230
[ 4,869
Al 11,361
301 YB3 16,230 0 16,230
[ 4,869
Al 11,361
06 XIS HAHIXI2 16,230 0 16,230
OXtsLHAsY =28 222 1
16,230,000 * 14! 16,230
[ 4,869
Al 11,361
(£)ZSEIHS KA TH L0 AL 56,000 9,000 47,000
[ 16,800
Al 39,200
401 AlEHI L2 0HH 56,000 9,000 47,000
[ 16,800
Al 39,200
01 Al&H] 56,000 9,000 47,000
OZAHI 0 L2 SA
8,000,000 *7 4 A 56,000
[ 16,800
Al 39,200
(S)NES oHEAEA 10,000 10,000 0
[ 3,000
Al 7,000




SA: OHETHL
I OIMPI[(ZREMUOHA/THLHERY - DIete])
chel: ordae] Jls2st (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
201 LBH2 A 10,000 10,000 0
[ 3,000
Al 7,000
01 AlR2:2IH] 10,000 10,000 0
OANLE S 3 HHEA g
200, 0002 %507 A 10,000
[ 3,000
Al 7,000
(C)MEOHMAL DM S EI= X 14,000 20,000 6,000
[ 4,200
Al 9,800
405 KHoHE S 14,000 20,000 6,000
[ 4,200
Al 9,800
01 AL 2EF SH 14,000 20,000 6,000
OHAMSI 2 14,000, 00020 %1 Al 14,000
[ 4,200
Al 9,800
(2)0I2IAZ2 YXEY HIZ XA 12,000 20,000 /8,000
= 6,000
[ 1,800
Al 4,200
402 DI2HKH=20| ™ 12,000 20,000 8,000
= 6,000
[ 1,800
Al 4,200
02 DI2EXH2 A SR (01 A THE) 12,000 20,000 8,000
ORIIA=EZ URZEZ HI2 X2
60,000,000 * 1A1%20/100 12,000
= 6,000
[ 1,800
Al 4,200
TG ollets 153,120 0 153,120
201 LB 141,120 0 141,120
01 AlR2:2IH] 141,120 0 141,120
OLHMBAHNSE 2AI2 7,520
—2ASEH(E12) 700,000 x2%*43| 5,600
—2ARSE BHE(20%)
140,000 x22 43| 1,120
—EX0| 100,000 x2Z *43| 800
OO B 2I| 2lE 29 82,300
—otdae| A 5,4002 %2503« 122 16,200
—BHAAR| QIEH(BD|E)
8, 2002 x250 G = x2Al 24,600
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PR 2 SEMLOHE /THLHY - 212<])
chel: ordae] Jls2st (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
—OIEBAHNS Qe
22,000,000 %14l 22,000
—QEHTI} HEEY A
19,500,000 * 14! 19,500
OSAEI} BOILST 22WS EH(BD|H)
9,000,000 *2A! 18,000
OYZFAl OHEBARIHH MY HIZ
20,0002 *250 5,000
OQMEHNE W HEH|
1,500,00021%43| 6,000
OgtdEMRR| 22(8E) 7Y
12,000,000 * 14! 12,000
OZHAIRITHoH ZE0ISAIA OHEAEZ 4ct
480,00024* 1004 A 4,800
OZHHoHHE S L Al EHY 21l 282 HIX
5,500
-2z 50024%2,00001*43] 4,000
—E52= 1,50021,0000H 1,500
207 1N 12,000 12,000
NIEEEEE 12,000 12,000
02024 A=Al OHEBABRIHH 2= HEE A
12,000,000 14! 12,000
(SIAES HUFY 2 HUOIMAICH 30,000 30,000
[ 9,000
Al 21,000
401 AlEHIL 20| 30,000 30,000
[ 9,000
Al 21,000
01 Al&H| 30,000 30,000
OANEES HLUXHA L FHUOHMZRICH
30,000,000 * 14! 30,000
[ 9,000
Al 21,000
(2)XIZICHM AL SO S HIXI ALY 40,000 40,000
= 24,000
[ 4,800
Al 11,200
307 I2H0|& 40,000 40,000
= 24,000
[ 4,800
Al 11,200
02 DIZHHANAII B X 40,000 40,000
OXIIGHMAILSOISH KA
40,000,000 * 14! 40,000
= 24,000
[ 4,800




SA: QETHLID
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CHol: oIF Bl J|S2

OhA 25} (Crol:®M2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| | | Al 11,200
DI%te| Ze|(SSEMUCHE /TN - 2124]) 627,686 998,741 A371,055
= 16,593
& 30,664
Al 580,429
g W= 95,407 95,943 A536
= 4,068
& 1,896
Al 89,443
QIR Ws 85,020 79,380 5,640
201 L2 3| 68,420 62,780 5,640
01 AtR2r2I] 68,420 62,780 5,640
ORI A E X HIZ
20,0002 405 800
Onlg=tha us 6,640
—XNEUSZE 4 - )| A==
40,0003 *4A| 2143 2,240
— WS M 1,50020% 1,000 1,500
—&D|ws JIAHM 50,000%10= 5} 2,500
—=2A0| EU 200,000 %174 200
—=ALEX 20,0004 102t A 200
OHI&CHYI 3,300
—s=9 M 60,0002 *5= 300
—HIYE2A A= 50,000%30E+235] 3,000
OaNEs HAEH] Xt 10,200
—2X¢s 9,000, 00024 *14! 9,000
—oig=e 300,00024%43] 1,200
OSXAs 1,020
— &= HE 60,0002+75 420
—OgH Ed 7 200,000/ %13 200
—ANREE 7Y 20,0003 205 400
oglgk=((0libl2) |2 2iz2tel A M
100,000 %174*33] 300
oz gs=d &9 M
60,0002 %63 360
OSEYRAE S &MY
100,000 x22H *43] 8,800
OHl&tHHl &8 oA S| 8,000
—SXNHAS SALAL 8,000 +200% <4 2! 6,400
—ES2Ed L JHEE SAL
8,000 x50 4 1,600
oglge=E & =)+
40,000 *200K 8,000
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K]
OH
[l

-

KIo

Hlw

12,120
12,120

A347,880

40,000

PIE]=>
e
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